WA R 2019/6/15 TR R fEFs
BHEaA  |BPEREALX)
B4 M = = EE ALk AT R BEA
FlE KA R 4o
Aft | R iz 2hr 3hr 40r 5fr 6z ht 8fir
s tlen sl 200m ING B w2373 (+35)|FHE BN w2382 (+35)|HE HKEE  w23.89 (+35)|HIE HAZE 2446 (+1.4)|Fith FEM  w24.63 (+35)| KM Bt w2466 +35)| =8 FEAN w2530 +35)|{FEME & w2544 (+35)
HHA HHA JeraE JeraE KE INER B PNED
68156] 400m A WA 55.37|4%EM BB} 56.32 (iR BEsb 56.65[/NEE A 57.05(BEME [EH 5852(EA —hk 58.87[FAR B 59.58| Kl %5th 1:00.83
KR il =t PNE AHI IS 5 BHL INER
o150 s00m ME E1E 2:07.79|#AAK #ith 2:09.57 |+t L 2:09.60|BH R 2:12.01| B Bt 2:12.18\1lkA K2 2:1267|8 RE 2:1439| FH BE 2:17.30
Kith HEHA il b=y 5 KE KE %L twE
6a158| 1500m BEBH EA 4:2047|77E BA 4:20.72|%HE & 4:2088|=iH ‘X 4:21.36|8 BKEE 4:27.15|H )11 I 4:28.68|FRE FFX 4291514 4R+t 4:32.70
Kith Kith I KR HHI twE INER il
o150 3000m EE 3 9:03.94| =i BX 9:04.20 [F&F0 B 9:16.00[FRE FFK 9:33.82| B4 &K 9:34.19| 11T FHKRE 9:44.32|h % TH 9:48.16[BIR & 9:50.56
AFHIL PN PN INER Kith JerFE JtwE BHL
150 110mn TAE EHE w450 (3.9)|BE BZ wis37B9/hE FE  wis42G39)|TH EA wis2¢39)|hfE BB 1704 H1.4)|FE E} 1707 H1LAOPRE FLE w1744 3.9)|HF X&KL  19.03 (+1.4)
JtraE JtraE AHIL #HEa #HWa PNES A B
t#FE 4514 B E 1L 46.63(83E0E 4710\ K& 47.38|FE 48.52|/NER 49.01|Kith 49.76
WE KE g EA P AR ki BR A Xk R Hi#dt AR EE
615H [4x100mR|FgH 5 A =L AFA =& A WA = OBEA KIgF & h S FiE
Mg HE3E AH FEH | BE3 iR BE & B BA X HE TR
HE BZ g [R5 BHE EH i EN EA —m =8 TR A X
TR KFMA F£E 1.64|RIL BIAER 155| EK B53 1558 A =K 1.50[FA B4 1.50[F1R &5 145|H5@H %2 1.40[#10 ZeH 1.35
il AFHIL LA JeraE A% 5% £} )
on 50| ime Ris BR  we14+1.7)|EE BZ 579 H1I3)|AE HA  whi2(+58)|Et 8% 534 (-1.3)|4%EH BEY w525 (+44)|F L T w516 (+43)|MIE HZE w505 (+33)|HF HBE w4.80 (+7.4)
PG dtwE bNE HEHI =y A% ) 5%
sntsn| =m R EBR 1179 +1.0)|FK 2 1148 HI.D|=AA @3 1MA8H.DILT KA 1082 (+H1.1)|#E &£ 1065 +1.8)[[EE EH 1063 07| LK BBk w1053 (+4.2)|FHE EHE w1043 (+28)
PN AFHIL AFHIL PN JerE #HEa 1T 2] LB
T . il —8 11.48|18HA [ 10.81|fBx —H 981|518 RE 9.26| @+ & 159|FEA #X 7598 =X 7.54| T 1&A 7.26
il 0}z bNE HEHI 55 5% File i PNES
oA1sn| ma M —5 36.97|Bx —& 2735|548 RE 26.76|12H [E 26.02|5KZ il 20.30|EN &N 17.75|2K =/ 15.33|BA X 14.85
file =t PG HEHI IT]=:] k= PN ) INER
seemvlensal 1o0m TEHE EH 1143 (F0.9)|KFE =X 11.63 +09)|AE HKE 11.74 (+09)|IRE =B 1215 (+09)|=BA @+ 1218 +0.9)|EA —m 1224 +09)|{B8E K 1269 (+0.9)|h+ @+ 1273 (+0.9)
JtrE Fadl=y i)l B4 %54 5% INER s
stemvlensil 100m #$E BN wil73(+38)|Fith BEN  wi1.92 (+38)[5dt BIE w1206 (+3.8)|AKH FEH w1207 +38)|REK HF} w1208 (+38)| =k BEA w1231 (+38)|FmHt RE  wi245 (38)[EIL KE  wi248 (+38)
AFIL PN Kith B4 INER 5% ) PN/
venrlensal 10om ER £2f 1288 +H1.3)[HE L 1324 H13)|FH KM 1332 (H1.3)|AH #F 1344 13| 54 1347 H13)| K FEF 1351 H1.3))dLFH BR 1397 H1.I)|AH AKX 1410 (+1.3)
PG twE dtwE IT]z] FEHE #HEE I}z AHL
6a15a| 1500m Kig &3} 45372\ N B 45407 |ARE BEW 5:0248|hE FiE 5:05.22|FR EX 5:08.03| K#f KIE 5:08.88| 7R fEIE 5:18.13| 2 Rt 5:20.74
JtrE JtrE ea Kith HHI INER E=)-3 PNED
twE 50.85 KR 50.98| H &t 51.32| LA 52.60 | FE4E 54.43(85H 4 55.82| 5% 56.68
Mt & REB A At #% t® s E 2 e BE NG HE
5o 64 15 H [4x100mRI 52 5+ ER &2 A% Bl AHE #HE IR MR Kt BF =l #
P K I RiK A fEth 3 B A K& WA ¥k Ao @il
FHH RE FL KE INETR A #H K BRE RE RE & R R

w (wind assist) : iBJEE 5




